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QUESTION 1

What kind of fallout scenario might occur during communication between OSM and a downstream system that should
eventually be resolved by simply retrying the communication?

A. invalid message request sent to the downstream system
B. network connectivity error

C. failure due to slow downstream system processing

D. internal downstream system application error

E. unsupported business process requests

Correct Answer: A

Reference: https://docs.oracle.com/cd/E49155_01/doc.73/e49705/mdl_ord_fall. tm#OSMMG947

QUESTION 2

Which two types of fallout scenarios can be detected and notified by implementing a Jeopardy?
A. invalid requests being sent to the downstream system

B. downstream network connectivity error

C. slow downstream system processing

D. failure during order creation

E. failure in runtime execution of automated task XQueries

Correct Answer: AC

QUESTION 3

Which two actions would allow you to configure an XQuery automation plug-in in an automated task that is intended to
publish a message in a JIMS queue when the task becomes ready to be executed?

A. setting the Event Type as Internal Event Receiver

B. setting the Event Type as External Event Receiver
C. setting the Automation Type as XQuery Automator
D. setting the Automation Type as XQuery Sender

Correct Answer: BC
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QUESTION 4

You are working with an architecture that involves multiple billing systems. Each billing system returns its own set of
external fulfillment states that you want to map to a smaller set of mapped fulfillment states defined in your cartridge.
Identify two ways to implement this.

A. Preprocess the external fulfillment states in the automation that communicates to each billing system and define a
single Fulfillment State Map for all billing systems.

B. Push the external fulfillment states unaltered in the automation that communicates to the billing system and define a
Fulfillment State Map for each billing systems.

C. Push the external fulfillment states unaltered in the automation that communicates to the billing system and define an
Order Item Composition Rule Set for each billing systems.

D. Push the external fulfillment states unaltered in the automation that communicates to the billing system and define an
Order Composition Rule Set for each billing systems.

E. Push the external fulfillment states unaltered in the automation that communicates to the billing system and define an
upstream system notification logic for each billing systems.

Correct Answer: DE

QUESTION 5

What is the possible reason for calling the following XQuery function from an automation?

declare function local:setCorrelation

51id as xs:string,

Scontext as javatype:com.mslv.oms.automation.TaskContext,

Sautcmator as
Javatype:oracle.communicat_ons.ordermanagement.automation.plugin
.ScriptReceliverContextInvocation

)
let Scorrelateor := automator:getCorrelator ($automator,
Scontext)

return
correlator:add(Scorrelator, 5$id)

);

A. to set a correlation ID in the context of a task that receives responses from a supply chain system
B. to set a correlation ID in the context of a task that sends requests to an activation system

C. to set a correlation ID in the context of an order received from a CRM system

D. to set a correlation ID in the context of a naotification that sends updates back to a CRM system
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E. to set a correlation ID in the context of a task that sends requests to and receives responses from an inventory
system

Correct Answer: D
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